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Culture and Civilization 45 X HH

(DBricks are the oldest man- Fe3k R ZE A1
ufactured building material still in ZE{f FH 59 5 &7 219
use. Egyptians used them ﬂv\gq § 5 ffi@ ﬁﬁ*"l’ ijﬁc

years ago .

@Al the world’ s mai
phabets have developed
alphabet invented 3, 600,
ago in the Middle East and
as the North Semitic Alp

(@ The Greeks ers
number 6 to be the ﬁrs;\ perf' :
number” because it is t}}\ }ium
all its divisors except 1t;hc iy F}’Fﬁ: &Jﬁzw Rl
is, 6 is divisible by I,2,or 3, 6 A% 1 B2 B3 ¥
and / +2+3=6.Inthe more &, M1 1+2+ 3=

than 2, 000 years that elapsed 6, MATZHE AVEH




between the time the Greeks made X—HIWr EFI 1952
their determination and 1952, FEE R AT ENLR
when computers were first used for FiR=LHHIIX 2,
this purpose, mathematicians dis- 000 ZEHE, HEFHK
covered only eleven more perfect MREIT BN 11
numbers. We now know twenty- OEEER LG AR
four. (The highest has 12,003 f1IEH 24 T
digits. ) i ¢ (BRE—H 12,

(@®The number 10 is usell
a convenient base to count.
but the Gauls of ancient!
the Mayas of Central -Am
and other peoples used.h
20. The Sumerians, the 4
ans, and others after the e
base of 60—convemér1t \bec“
60 can be evenly dlvifiétﬁ b
3456101215203.nd

ﬁ&@'ﬂ%m

g}ﬁ?gg:;ﬁg‘jﬁ o0 5
e A 121520 F130 ¥

. This survives in the divi- Bﬁ},@?uﬁ'%m{ﬁﬁ
sions of hours into minutes and &, 60 AL EIR



minutes into seconds, and in the TRRIF 1 /N 60
division of the circle into 360 de- 73#H 1 5351160 7,
—/NE A5 24 360
i
(® When Arabic numerals BA] 7 {F 380 =
were invented, they did not win KEAHK/EGIEEH L
immediate acceptance. In the year |4 A {82,
1300, their use was forbiddenyin .. | 5
European commercial dealingg \ig
cause they could be forgf;d
easily than Roman numer
(Changing “ 1979 see
simpler than changing
LXXIX.”) Arabic numeral :
not completely accepted '
out Europe until 1800,

grees.

® The numbers3A, which ..-=<37 R HURAE
cannot be wholly lelBQa By Eﬂ BB (B
number (except by I an&\itse}f e
has the property that it will who]ly 28) L*ﬂﬁ““/\¢#
divide the following numbers: #,R[JP[¥E 5 &
111,222, 333, 444, 555, 666, ¥: 111, 222, 333,




777 , 888, 999. 444, 555, 666, 777 ,
888, 999, |
(D'There is, of course, a big WK, InAI3E
difference between addition and JRURIZE. HIARIER . W,
multiplication , between subtraction gk zEERKXX
and multiplication, between addit- 7!, (ERABA B
ion and division, and between sub- 13 13513 2 13
traction and division. But there,\@re 4 g 49

|

exceptions:
B 1_ B 13 )
4797479 =t 22 x 2 =%
3 ddnds BN 0 13
3 - 8088 T
169, 13 _169 I3
30 Y157 30 T I5.
J21 AL cI2k e e b
T S, =g T -]71—
Also, the nunms, \19 \md
AN ¢
0.95 give the same resiﬂt&efh ffﬁ 19 F1 0. 95
you multiply them or ded of ‘the ﬁﬁ/\ﬁ G E—

socond from the first: 18.05.  BORZE AN, BB

FEZAB ERED
—PE:18.05,



® There is an infinite num- BB, E
ber of numbers that have the same f{ IR SHFEIE, X

value whether added or multi- SRR DL FRORER .
plied. They follow this pattern:

1 1 1
3+1—2‘=3X17=47 3

1
5+17=5x1—~=6

integer that can be add ] aajfﬁﬁﬂ F4E
and multiplied with 1tse]f\~1,y_ ~ihe i%ﬂ'jﬁ:\%—-ﬁ

same result:



2+2=4and2x2=4

@1t may take many steps,
but by ‘adding its reverse to any
integer (except perhaps one) a
palindromic sum can be attained.
That is, the sum is the same from
right to left as from left to right.
Examples:

+
Co W
w Co

~
N
~

48017

+ 7 1084 {
TT9108 "
+ 101911 “\
231012 \w m
+°2 1'0122 {\},
4301345 4 F

From 89 to its palindromic
sum—8, 813, 200, 023, 188—

ﬁlfiﬁﬂéMEﬂﬁ

2+2=42x%x2=4
KA — B
BE&ET 155
BRI SEGE TN, B]
BEBREATIFJLIR, ]
DA B —> | 3T AT
BB ZE D TT 46 13%

“~*101w1 -----

27201012
4210122
431134

M 89 FIEEIC
¥ 8, 813, 200,



takes twenty-four steps. ( There 023, 188 & n 24
may be an exception to the con- Ko (FEfTEEEGXEE
jecture that every integer will JIERAZAEEH—
eventually produce a palindrome. /NMAISCRIEHIRIEE
Boris A. Kordemsky, a Russian BJRER —/HISN,
mathematician, has noted that the % b2 57 g B U7 -
number 196 has been carried by A+ FIRITEEER
£, Sd 19 XA

computers beyond thousands:; of

\\,I_\r \
steps without yet producing at \
indrome. )

@0 The largest n
can be written with three.di
9 that is, 9. No;
knows exactly its vaiile*' o
number  that begms
428124773 ... Tt would.have 369 4

@ A prime number is any R R aeut
number that can be divided only Z<EF] 1 BERRHIRL,



by itself and 7. There are an infi- REE L. B
nite number of primes. Any one of AH{A—N I (Br T
those primes (except for 2 and 2 MIREME 1
3) will become evenly divisible B ZE I BFI# 6
by 6 if you either subtract 1 from ¥FR. 4n:17 ot 1
it or add I to it. For example, BRIE[#% 6 ¥k, 19
the number 17, if 1 is added to JRZ= 1 B #% 6 %
it, is evenly divisible by 6; iy or %o
the number 19, if I is subtlackefi
from it, is evenly divisible by 6"
@ Take fifteen books :
number them “1” to “1I5

_ &jﬁ%ﬁ%h
until 7839. Up until then, peopIe JX#““}‘*F%%H(JF
usually folded their letters both P, 7ERLZ I YNB!
ways, sealed them with wax, and BE K5 AR
wrote the address on the back. Prike ok, Ao E 5T,



TERES E#it,
Austria was the first country B A2 5 —
to use postcards. MERABRBRFNE |
Ko
() The cigarette lighter was T K HLRY & BA
invented before the match. In L KERE R, 1816
1816, a German chemist, J. W. &,—/Mlf J- W {H
Dobereiner, devised a way of auto- . ?ﬁ%ﬂ}ﬂ@@{{#
matically igniting a jet of h)\?d}o- ’@ﬁiz — N eEE

No ¥

gen. The only problem was th
required powdered platinum (
as a catalyst, so it was
practical.

@ The shoe strmg was | in-
vented in England in- ]799
to this time all shogsm}ve
tened with buckles. &
®In photographyn Q\pmﬁpg;
days, sitting for a poﬂraltxx__ alled" s
for extreme patience. M mg m&% WA HRE
daguerreotype in 1837 requmed a E"Jﬁﬁ/b\ 1837 £ M
fifteen-minute exposure. The sub- FRAR FRAHEEIH—IK

ject’s head was put in a clamp to FHF REERIE 15 5

“Mw%ﬁ%%%
£ T ER,
;«Eﬁ 2 R W




hold it still. o BAA—1K
SR CEEEEPNIPR
e o
@D The average lead pencil — RS E S
will draw a line 35 miles long or FJ[E—%% 35 HE K
write approximately 50, 000 En- B4, BB XKL 5 7
glish words. MNEIERIF
@@ How to manufacture,; por- 5 HE|ATT 1700
celain, or “china” , was a mystél})\ 4 "i;lluﬁ o] il 15
known only to the Chmeses RHA
around 1700. Although i
porcelain was made earlie
ly, it was Johann Fnednca
ger, of Saxonmy, who madi
porcelain (the Dresden’ cﬂn )f
the first time in the ks

AR T

world. }HLT E .IE & 28
S U ).
@91t is estimated \tl\@\é.t\ ap 7 }E{Eﬁ‘ L2 SHN

tic container can resist décomfx)s %25 M
tion for as long as 50, 000 yéars. KA Jﬁf_‘.o
@ Celery has negative calo- A& A A

ries—it takes more calories to eat & & A ¥ —H 1k



a piece of celery than the celery
has in it.

@ You won’ t get a bellyache
from eating a green apple, as long
as you chew it completely. The
stomach doesn’ t know the differ-

ence between ripe and unnpg«\ap- .

ples. iy
@ Tobacco is a |

leaves contain a number of:nu

tional substances that can’ sustain’| '

life for a time if no other:f;o&
available.

DA smentlst at MIC

lgan

State University has maleulaﬁed

that the production of a s\ngie ]

egg requires about 120 ga]lon; of

water, a loaf of bread requires

300 gallons, and a pound of

x I‘ﬁ]ﬁ\ . \>\!~. .

RPN
B 1 L AR B0
KBEEE,

B, 1
SRR AT,
% B R 51
HH R AR R 2R
R

r‘-‘%’ﬁhf)lljk

Eg(ﬁiﬁ’] 120 73[1

HIK, EFE—
HE 300 DH@E’\J?K,



beef, 3, 500. MmeE=—B4NE
3,500 ISE97K .

@ One 75-watt bulb gives — R 75 FLHIAT
more light than three 25-watt =AY EH 3 R
bulbs. . 25 FLRIKT 5T

@ An ordinary TNT bomb L8 A TNT FE
involves atomic reaction, and IR FX N/, 8]
could be called an “ aq\;q;w ‘.uﬁﬂ’ﬁ“i? T8,

bomb involves nuclear react% @ﬁ: %M,ﬁﬁ
and should be called a “ nucloar”” HH{E
bomb” . ;
@ Artists consider |
colors to be red, yellow and
but scientists say they" 2 TR
ﬁ R
SRR E A iR
RHE R, TR
SRR — R

green, and blue. No 5
combination of red, greé and
blue will produce yellow, Xet,
beam of red light and gree h

overlap, the result is yeﬂp ; %E%ﬁ, ZERAR
answer to this riddle lies pnmanly H A, :IXA PPN
in the totally different ways colos EFEFET L&A
are achieved with light and with UK} M BR 35 2 10 5




